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What happens to the data stored in 

RAM when there is no power 

What is a kilo in the binary system 

What is SQL injection What is pharming What are the two types of data 
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What is the hexadecimal 

representation of the 8-bit binary 

number 00111100 

 

The hexadecimal representation of 

the 8-bit binary number 00111100 is 

3C. 

What happens to the data stored in 

RAM when there is no power 

 

Answer: It is lost. 

What is a kilo in the binary system 

 

In the binary system, a kilo 

represents 1000 bytes. 

What is SQL injection 

 

It is a type of cyber attack that 

injects malicious code into an SQL 

statement through an input field. 

What is pharming 

 

- "A type of malware that redirects a 

website's traffic to a fake website in 

order to collect personal 

information." 

What are the two types of data 

transfer media 

 

Wired (Ethernet) and wireless (Wi-Fi 

and Bluetooth). 

 


